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	Operaciones combinadas con decimales

	
	
	

	a) [(-13,6) - (-8,8)]·(1,1 + 4,6)
	b) 1,9 - 12 - [(-8,7) + (-8,1)]
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	c) (-0,7)·(-8,9)·(14,1 - 6,5)
	
	d) (-9,2) - (-18,5) - 17,1·1,9
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	e) (-10,2) + 18,6 - [(-2,9) + 19,2]
	f) (-0,5) - (-16,3) - [(-3,7) - (-15,5)]

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	g) 10,1 + 7,6 + 19 + 8,5
	
	h) 14,8 - 18,9 + 7,6·(-5,1)
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	i) 11,2 + 15,8 - (11,4 - 18,9)
	
	j) (-14,9) + (-12,8) - [(-4,2) - (-16,6)]

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	k) [(-14,7) + 19,8]·[(-1,9) + (-5,5)]
	l) (-12,6) - (-11,2) + 18,8 - (-8,2)

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	m) (-2,8)·12,2 + 12,2 - (-12,8)
	n) [(-6,1) + 8]·[(-4,3) + 5]
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	o) 0,5·(-17,3) - [(-14,3) - (-0,5)]
	p) 19,2 - 13,2 + 7,1 + (-10,4)
	



	Soluciones:
	
	
	
	
	
	

	a) -27,36
	b) 6,7
	c) 47,348
	d) -23,19
	e) -7,9
	f) 4
	g) 45,2
	h) -42,86

	i) 34,5
	j) -40,1
	k) -37,74
	l) 25,6
	m) -9,16
	n) 1,33
	o) 5,15
	p) 2,7


Estudia para el examen de la unidad de decimales de la próxima semana
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